
答え：答え：

底面は半径 cm の半円

② ④

円の半径は cm

答え： 答え：

名まえ

・次の図のような立体の体積を求めましょう。(各25点)

① ③

⑯ 力だめし

底面積：

体積：

底面積：

体積：

6cm

底面積：

体積：

底面積：

体積：

目指せ75点！
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10cm



答え： 168答え： 565.2

=

=
=

=

底面は半径 ６ cm の半円
=

② ④

円の半径は cm

答え： 352 答え： 75.36

=

= =

==

名まえ

・次の図のような立体の体積を求めましょう。(各25点)

① ③

⑯ 力だめし 答え

㎝3

底面積：

66

体積： 66×８＝528

底面積：

㎝3

体積：

6cm

底面積：

体積：

㎝3 ㎝3

底面積：

84

体積：

目指せ75点！

16

14＋３＋49

４×４×3.14÷４

４×４÷４×3.14

４×3.14

12.56

12.56×６＝75.36

12÷２ ＝ ６

６×６×3.14÷２

６×６÷２×3.14

18×3.14

56.52

56.52×10＝565.2

32 ＋ 12 ＋ 40

84×２ ＝ 168

4cm

12cm

10cm

4cm

5cm
4cm

8cm

12cm
2cm

８×４ + ４×３ + ８×５

4cm

8cm

2cm
7cm

7cm

10cm

７×２ + ３×１ + ７×７


